

$\bar{Y} \backslash \bar{X}$	1	2	3	4	$P_{\bar{Y}}(y)$
1	$\frac{1}{8}$	$\frac{1}{16}$	$\frac{1}{32}$	$\frac{1}{32}$	$\frac{1}{4}$
2	$\frac{1}{16}$	$\frac{1}{8}$	$\frac{1}{32}$	$\frac{1}{32}$	$\frac{1}{4}$
3	$\frac{1}{16}$	$\frac{1}{16}$	$\frac{1}{16}$	$\frac{1}{16}$	$\frac{1}{4}$
4	$\frac{1}{4}$	0	0	0	$\frac{1}{4}$
$P_{\bar{X}}(x)$	$\frac{1}{2}$	$\frac{1}{4}$	$\frac{1}{8}$	$\frac{1}{8}$	

$$H(\bar{X}) = - \sum_{x \in \bar{X}} p(x) \log p(x) = - \left[\frac{1}{2} \log\left(\frac{1}{2}\right) + \frac{1}{4} \log\left(\frac{1}{4}\right) + \frac{1}{8} \log\left(\frac{1}{8}\right) + \frac{1}{8} \log\left(\frac{1}{8}\right) \right]$$

$$= - \left[-\frac{1}{2} - \frac{1}{2} - \frac{3}{8} - \frac{3}{8} \right] = \frac{14}{8} = \frac{7}{4}$$

$$H(\bar{Y}) = - \sum_{y \in \bar{Y}} p(y) \log p(y) = - \left[\frac{1}{4} \log\left(\frac{1}{4}\right) \right] = 2 \quad \checkmark$$

$$H(\bar{Y}|\bar{X}) = \sum_{x \in \bar{X}} p(x) H(\bar{Y}|\bar{X}=x) =$$

$$\cancel{H(\bar{X}|\bar{Y})} = H(\bar{X}|\bar{Y}) = \sum_{y \in \bar{Y}} p(y) H(\bar{X}|\bar{Y}=y) = \frac{1}{4} H\left(\frac{1}{2}, \frac{1}{4}, \frac{1}{8}, \frac{1}{8}\right)$$

$$+ \frac{1}{4} H\left(\frac{1}{4}, \frac{1}{2}, \frac{1}{8}, \frac{1}{8}\right) + \frac{1}{4} H\left(\frac{1}{4}, \frac{1}{4}, \frac{1}{4}, \frac{1}{4}\right) + \frac{1}{4} H(1, 0, 0, 0)$$

~~Handwritten scribble~~

$$\begin{aligned}
H(X|Y) &= \frac{1}{4} \left[-\frac{1}{2} \log\left(\frac{1}{2}\right) - \frac{1}{4} \log\left(\frac{1}{4}\right) - \frac{1}{8} \log\left(\frac{1}{8}\right) - \frac{1}{8} \log\left(\frac{1}{8}\right) \right] \\
&\quad + \frac{1}{4} \left[-\frac{1}{4} \log\left(\frac{1}{4}\right) - \frac{1}{2} \log\left(\frac{1}{2}\right) - \frac{1}{8} \log\left(\frac{1}{8}\right) - \frac{1}{8} \log\left(\frac{1}{8}\right) \right] \\
&\quad + \frac{1}{4} \left[-\frac{1}{4} \log\left(\frac{1}{4}\right) \right] + 0 \\
&= \frac{1}{4} \left(\frac{7}{4} \right) + \frac{1}{4} \left(\frac{7}{4} \right) + \frac{1}{4} (2) = \frac{14}{16} + \frac{2}{4} = \frac{7}{8} + \frac{4}{8} = \frac{11}{8} \quad \checkmark
\end{aligned}$$

$$\begin{aligned}
H(Y|X) &= \sum_{y \in Y} \cancel{P(Y=y)} H(Y|X=y) \sum_{x \in X} p(x) H(Y|X=x) \\
&= \frac{1}{2} H\left(\frac{1}{4}, \frac{1}{8}, \frac{1}{8}, \frac{1}{2}\right) + \frac{1}{4} H\left(\frac{1}{4}, \frac{1}{2}, \frac{1}{4}, 0\right) + \frac{1}{8} H\left(\frac{1}{4}, \frac{1}{4}, \frac{1}{2}, 0\right) + \frac{1}{8} H\left(\frac{1}{4}, \frac{1}{4}, \frac{1}{2}, 0\right)
\end{aligned}$$

$$\begin{aligned}
&= \frac{1}{2} \left[-\frac{1}{4} \log\left(\frac{1}{4}\right) - \frac{1}{8} \log\left(\frac{1}{8}\right) - \frac{1}{8} \log\left(\frac{1}{8}\right) - \frac{1}{2} \log\left(\frac{1}{2}\right) \right] \\
&\quad + \frac{1}{4} \left[-\frac{1}{4} \log\left(\frac{1}{4}\right) - \frac{1}{2} \log\left(\frac{1}{2}\right) - \frac{1}{4} \log\left(\frac{1}{4}\right) \right] \\
&\quad + \frac{1}{8} \left[-\frac{1}{4} \log\left(\frac{1}{4}\right) - \frac{1}{4} \log\left(\frac{1}{4}\right) - \frac{1}{2} \log\left(\frac{1}{2}\right) \right] \\
&\quad + \frac{1}{8} \left[-\frac{1}{4} \log\left(\frac{1}{4}\right) - \frac{1}{4} \log\left(\frac{1}{4}\right) - \frac{1}{2} \log\left(\frac{1}{2}\right) \right] \\
&= \frac{1}{2} \left[+\frac{2}{4} + \frac{3}{8} + \frac{3}{8} + \frac{1}{2} \right] + \frac{1}{4} \left[+\frac{1}{2} + \frac{1}{2} + \frac{1}{2} \right] + \frac{2}{8} \left[\frac{1}{2} + \frac{1}{2} + \frac{1}{2} \right] \\
&= \frac{1}{2} \left[\frac{13}{8} \right] + \frac{3}{8} + \frac{3}{8} = \frac{13}{8} + \frac{6}{8} = \frac{19}{8} \quad \checkmark
\end{aligned}$$

$$H(X|Y) = -\sum p(x,y) \lg p(x,y) = -\left[\frac{1}{8} \lg\left(\frac{1}{8}\right) + \frac{1}{16} \lg\left(\frac{1}{16}\right) + \dots\right]$$

$$-\frac{1}{4} \lg\left(\frac{1}{4}\right) = \frac{1}{2}$$

$$-\frac{1}{8} \lg\left(\frac{1}{8}\right) = \frac{3}{8}$$

$$-\frac{1}{16} \lg\left(\frac{1}{16}\right) = \frac{1}{4}$$

$$-\frac{1}{32} \lg\left(\frac{1}{32}\right) = \frac{5}{32}$$

$$H(X|Y) = \frac{3}{8} + \frac{1}{4} + 2\left(\frac{5}{32}\right) + \frac{1}{4} + \dots$$

$$= 1\left(\frac{1}{2}\right) + 2\left(\frac{3}{8}\right) + 6\left(\frac{1}{4}\right) + 4\left(\frac{5}{32}\right)$$

$$= \frac{16}{32} + \frac{24}{32} + \frac{48}{32} + \frac{20}{32}$$

$$= \frac{4}{8} + \frac{6}{8} + \frac{12}{8} + \frac{5}{8} = \frac{27}{8} \quad \checkmark$$

$$H(X) - H(X|Y) = \frac{7}{4} - \frac{11}{8} = \frac{3}{8}$$

$$H(Y) - H(Y|X) = 2 - \frac{13}{8} = \frac{3}{8} \quad \checkmark$$

pg 19 Lecur/Thmes

$$D(p||q) = \sum_{x \in X} p(x) \lg\left(\frac{p(x)}{q(x)}\right)$$

$$= (1-r) \lg\left(\frac{1-r}{1-s}\right) + r \lg\left(\frac{r}{s}\right) \quad \checkmark$$

$$D(q||p) = \sum_{x \in X} q(x) \lg\left(\frac{q(x)}{p(x)}\right) = (1-s) \lg\left(\frac{1-s}{1-r}\right) + s \lg\left(\frac{s}{r}\right) \quad \checkmark$$

$$r=s$$

$$r = \frac{1}{2} \quad s = \frac{1}{4}$$

$$D(p||q) = \frac{1}{2} \lg\left(\frac{\frac{1}{2}}{\frac{3}{4}}\right) + \frac{1}{2} \lg(2)$$

$$= \frac{1}{2} \lg\left(\frac{2}{3}\right) + \frac{1}{2} \lg(2) \quad -$$